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OQA?I 23 ¢ 70,0003 x5 H+53] 1,750
Ogtse SHOIXN 25
55,000,000& » 14 55,000
03 A= SHI 3,000 3,000 0
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01 =LHOLI 17,160 17,160 0
OEIPSE- ==y BN
130,000 7= 123 10,920
ORH=2E Az+d
130,000 x4 * 122 6,240
04 =Xl=todb] 20,000 0 20,000
O oot ¥ 2wz HAL = X
5,000,000& »4H 20,000




SN ABIAR T
M Ngos 29X
el odgs ¢ (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
205 2|&lH| 486,216 484,421 1,795
01 28 &=Hl 92,400 92,400 0
OoIENR4E 7|
900, 0003 «7H*12& 75,600
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04 21E =204 35,000 0 35,000
O2Faiedds & A uFEH
5,000,000& 7 35,000
06 ¥ =g338l 42,445 46,050 23,605
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OXgAZHI 300,000 «3CH* 122 10,800
OX&EHl & g 2234
130,000 *3CH* 123 4,680
O22F AL = F Il 4,000,000 4,000
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